NG 2 IR 505 3 DO ABSREOHR (£F)
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AERET o N5E 224 234 244 254 264F2H 26434 26444 26454 26464 269F7TH | AR
T TR 3,986 2,993 2528 2,299 1,703 110 124 139 158 116 114 158
(HTAEFEIH (H) k) (A 30.5) (A 249) (A 15.5) (A 9.1) (A 25.9) (A 28.1) (A 29.1) (A 17.8) (A 3.7) (7.4) (A 27.8) (A 24.0)
EEAM 1,122,990 775,593 640,907 533,042 375,913 27,350 27,828 30,442 37,100 35,503 23,361 26,628
(HAEFEIH (H) k) (A 29.4) (A 30.9) (A 17.4) (A 16.8) (A 29.5) (A 20.9) (A 38.7) (A 26.5) (A 1.2) (18.8) (A 12.3) (A 42.5)
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" 3005 FIA# 2.2) (1.9) 2.2) 25) 258) (4.5) (4.0) 4.3) 5.1) @.7) 0.9) (1.9)
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A1 0007 [ ok (32.4) (31.9) (30.3) (31.0) (32.0) (38.2) (29.8) (32.4) (27.2) (28.1) (24.6) (34.2)
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3 |5 00075 [oE3E (60.8) (61.3) (63.6) (62.9) (61.0) (50.0) (62.9) (57.6) (62.0) (62.3) (71.9) (58.9)
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¥ |3EHLLT (3.9) (3.9) (3.5) 3.1 @37 (7.3) (3.2) (5.0) (5.7) (6.2) (2.6) (4.4)
Iy —— 31 28 10 10 8 - - 1 = I = I
e (0.8) (0.9) (0.4) (0.4) (0.5) (-) (=) 0.7) (=) 0.7) (=) (0.6)
o 36 21 76 20 13 = 3 7 1 3 T 1
ERLBEHE X ©.7) 0.6) 0.5) .7 0.6) (-) 2.0 2.4) 0.5) (.7 0.7) 0.5)
o 91 70 51 42 37 7 2 2 5 2 = 7
BLEESSEEEN (1.9) (19 ) (15) (1.8) (3.0) (1.3) (1.2) @.7) (L.1) (-) @.1)
oy 2,730 2,056 1,727 7,580 7,088 70 72 91 98 86 70 99
e (56.5) (56.9) (57.2) (51.7) (53.1) (52.2) (48.0) (54.8) (53.8) (48.9) (50.7) (51.3)
[ ——— 531 429 349 336 298 22 21 23 20 31 25 32
il (11.0) (11.9) (11.6) (12.3) (14.5) (16.4) (14.0) (13.9) (11.0) (17.6) (18.1) (16.6)
. 282 208 162 148 107 6 11 5 8 7 16 9
?q'i 7L AR AT (58) (58) (5.4) (5.4) (52) (4.5) (7.3) (3.0 (4.4) 2.3) (11.6) @.7)
[ R —y IR 121 78 60 35 25 I = 2 2 6 I 5
Hp | PR RAE PE DI K (2.5) 2.2) 20) (1.3) (1.2) 0.7 (-) (1.2) (LD (3.4) 0.7) (2.6)
—— 61 31 27 26 16 I 3 5 I 2 = 3
I (1.3) (0.9) (0.9) (0.9) (0.8) 0.7) (2.0) (3.0) (0.5) (1.1) (-) (1.6)
ey 126 76 58 46 45 7 7 I 7 3 2 3
(R RS (2.6) 2.1 (1.9) .n (2.2) (3.0) 2.7 (0.6) (2.2) (1.7 (1.4) (1.6)
ool 852 644 569 507 420 26 31 33 13 39 23 37
(17.6) (17.8) (18.8) (18.5) (20.5) (19.4) (22.7) (19.9) (23.6) (22.2) (16.7) (19.2)
P 968 657 614 543 450 27 32 36 16 18 25 16
= (24.3) (22.0) (24.3) (23.6) (26.4) (24.5) (25.8) (25.9) (29.1) (32.9) (21.9) (29.1)
P 523 425 370 355 294 14 22 25 22 30 25 33
17 (13.1) (14.2) (14.6) (15.4) (17.3) (12.7) 7.7 (18.0) (13.9) (20.5) (21.9) (20.9)
N 5 512 400 312 317 244 21 23 21 21 16 12 15
e (12.8) (13.4) (12.3) (13.8) (14.3) (19.1) (18.5) (15.1) (13.3) (11.0) (10.5) 9.5)
P— 1,309 984 852 685 47 32 27 35 38 32 38 39
2 x (32.8) (32.9) (33.7) (29.8) (24.5) (29.1) (21.8) (25.2) (24.1) (21.9) (33.3) (24.7)
A 313 261 188 187 125 8 10 10 15 7 6 8
| (1.9) 8.7 (1.4) 8.1) (1.3) (7.3) (8.1) (7.2) (9.5) (4.8) (5.3) (5.1)
Y TR——— 21 9 7 10 13 I = 1 = I = 2
il o = (0.5) (0.3) (0.3) (0.4) (0.8) (0.9) (-) 0.7) (-) 0.7) (-) (1.3)
% P 10 4 [ 7 2 - - I I - = -
h 0.3) 0.1 (0.0) (0.3) 0.1 (-) (-) 0.7) (0.6) (-) (-) (-)
p— 87 56 30 33 23 = I 5 I 2 2 3
= (2.2) (1.9) (1.2) (1.4) (1.4) (-) (0.8) (3.6) (0.6) (1.4) (1.8) (1.9)
P 202 157 115 128 105 7 7 5 11 9 6 7
KT e (5.1) (5.2) (4.5) (5.6) (6.2) (6.4) (5.6) (3.6) (7.0) (6.2) (5.3) (4.4)
ool A 40 39 34 30 = 2 = 3 1 = 5
(1.0) (1.3) (1.5) (1.5) (1.8) (=) (1.6) (=) (1.9) 0.7) (=) (3.2)
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